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EXTRA PRACTICE: Molarity Practice #2

Molarity Practice Problems

1) How many grams of potassium carbonate are needed to make 200 mL of
a 2.5 M solution?
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2) How many litefs of 4 M solution can be made using 100 grams of lithium
bromide?

(D \oog L.‘Er[ [Mol LiBc = ,l-lfﬂ\a! L;B(

S U | 8.9¢sTy LiBC
@ M_Mc‘ iy ol e b 115 mel LiBe _pIO.Q‘BQLsAn]

L M HM Seln
3) What is the concentration of a 450 mL solution that contains 200 grams of
iron (Il chloride?
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#* 4  How man-y'grams of ammonium sulfate are needed to make a 0.25 M L
solution at a concentration of 6 M?
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5) - What is the concentration of a solution that has a volume of 2.5 L and
contains 660 grams of calcium phosphate?
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6) How many grams of copper {li) fluoride are needed to make 6.7 liters of a

1.2 M solution?
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7) How many liters of 0.88 M solution can be made with 25.5 grams of
lithium fluoride?
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% 8 Whatis the concentration of a solution that with a volume of 660"that
contains 33.4 grams of aluminum acetate?
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9) How many liters of 0.76 M solution ¢an be made using 75 grams of lead
(11) oxide?
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10) How many grams of manganese (IV) oxide are needed to make a 5.6
liters of a 2.1 M solution? iR sl
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11)  What is the concentration of a solution with a volume of 9 mL that
contains 2 grams of iron (li1) hydroxide?
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12)  How many liters of 3.4 M solution can be made using 78 grams of
isopropanol (CaHs0)?
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13)  Whatis the concentration of a salution with a volume of 3.3 mL that
contains 12 grams of ammonium sulfite?
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EXTRA . RACTICE: Molarity Practice #2

Molarity Calculations
Calculate the molarities of the folfowing solutions:
1) 2.3 moles of sodium chloride in 0.45 liters of solution.
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2) 1.2 moles of calcium carbonate in 1.22 liters of solution.
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3) 0.08 moles of sodium sulfate in 12 mL of salution.
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4) 0.75 moles of lithium fluoride in 65 mL of solution.
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5) 0.8 moles of magnesium acetate in § liters of solution.
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6) 120 grams of calcium nitrite in 240 mL of solution,
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7) 98 grams of sodium hydroxide in 2.2 liters of solution.
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8) 1.2 grams of hydrochloric acid in.25 mL of solution.
O1.2q Belj Lmol B! _ 5. 6329 met He
Py T
@M: ’:—E_!-—D M= Teis 1 :

9) 45 grams of ammonia in 0.75 L of solution.
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Explain how you would make the following solutions. You should tell how many
grams of the substance you need to make the solution, not how many moles.
10) 2Lof6MHCI
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13) 45 mL of 0.12 M sodium carbonate
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250 ml of 0.75 M lithium nitrite =
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18) 56 mL of 1.1 Miron (I} phosphate
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16) 6.7 L of 4.5 M ammonium nitrate
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17) 4.5 ml of 0.05 M magnesium suifate
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